Bubnnoteka COK

KON-BO
Hacoc aBTomat Qxxam60 60/35 H-24 Ne Hanmenoparme xon .
nos Hacoce
1 Onektpoasuratens AWE63 26Y3 K90 0,55 kBT M043 1
2 3arnywka G 1/4" N, NATYHHAS 3ri-4nn 4
3 KornbLjo 028-032-25 FOCT 9833-73* M192 1
4 Conno B cbope 60/35 M116 1
5 Hanpaenstowwmit annapat ¢121x42 M1100 1
6 Koneco paboyee ¢120x40- $¢12M10 M815 1
7 YnnoTHeHve Topuesoe ®12-126-20,5 (5) M042 1
8 Konbuo 150-155-36 OCT 9833-73 M200 1
9 [Ho 60/35 M940 1
10 Kopnyc Ixam60 60/35, HepxaBetoLumit M026 1
11 KonbLo 012-16-25 FOCT 9833-73 M191 4
12
dnekTpoaBUraTesib COCTOMT U3:
1.1 Kpbiwka BeHTUnsTopa AUE63 2BY3 K90 M338 1
1.2 Bentunsitop AWME63 26Y3 K90 M336 1
1.3 LLIMT NOALWMNHMKOBbIN 3aaHui  AUE63 2BY3 K90 M1143 1
1.4 BonT M5x125, OUMHKOBaHHbIN M535 4
1 1.5 LLiai6a @5, ounHkoBaHHas DIN 125 M279 4
1.6 Ynop ©34x25-M6x5 M626 1
1.7 Kopnyc aB. c o6MoTkoii  AUE63 2BY3 K90 KAOAME6390 1
1.8 Kopob6ka KoHaeHcaTopHas 134x111 Mm M543 1
O— 1.9 Bbik/toyaTenb 4 koHTakTa, 30x25MM, ¢ noAcseTkoii 250 B, 15 A B3015A 1
UpI—— 1.10 YNnoTHeHWe Bbiknoyatens 30x25Mm M624 1
1.11 KneMMHas konogka 3-x KOHTaKkTHas M541 1
3 14 1.12 BUHT M4x8 oLMHKOBaHHbIN DIN7985 M540 5
Eﬂmjzj /EI 1.13 LLlan6a ®4, oumHkosaHHas DIN 125 M918 3
122) 121 120 18 L4 1.14 BuHT M4x10 oumHKoBaHHbIN DIN7985 M544 1
1.15 3axuM KoHAeHcaTopa 57x15x10 KKHO57x15x10 1
1.16 KonpeHcaTop uF10 V450 35x63 Y346 1
1.17 YNnoTHEHWe KOHAEHCATOPHOM kopobku 134x111 MM M542 1
1.18 Kpbilka KOHAEHCATOPHOM KOpoBku 134x111 MM M622 1
1.19 BWHT camMoHapesatowwmii ®4x16, OUMHK, NMH3006pasHas ronoeka M539 4
1.20 Potop AWE63 2BY3 K90 M329 1
1.21 MoawunHuk 6201-2RZ M327 2
1.22 KpoHwTeitH  AVME63 26Y3 K90 M350 1
1.23 Mposoa 3x1,00 MM? c BUAKON L=1,5M MNB3x1-1,5 1
1.24 YnnoTHeHwe repmoBeoga  17x8-8 M546 1
1.25 HakuaHas raiika M18x1,5 nnactm. M623 1



https://www.c-o-k.ru/library/instructions/brands

Hacoc-aBTomart [Ixxam60 60/35 H-24

2

3 |

g*

6 8

5l 3 f

Bk 1. &

a9 ' T l
0 I|

0 e s |
E
21/
N°o KOJ1-BO B
HaumeHOBaHue Kon
nos Hacoce
1 onektpoasuratens AME63 26 ¥3 K90 0,55 kBT M043 1
2 | Konbuo 028-032-25 (029-033-25) NOCT 9833-73 M192 1
3 Conno B cbope 60/35 M116 1
4 Hanpasnsitowmit annapat ¢121x42 M1100 1
5 Koneco paboyee ®120x40-012M10 M815 1
6 | YnnotHeHue Topuesoe ¢p12-$26-20,5 (5) M042 1
7 | Konbuo 150-155-36 TOCT 9833-73 M200 1
8 | OHo 60/35 M940 1
9 | Kopnyc «xambo» 60/35, Hep)kaBetoLmii M026 1
10 | BUHT M5x35 oumHkoBaHHbIM DIN912 BHYTP. LWecT., kn.8.8 M142 8
11 | 3arnywka G1/4 M, naTyHHas 3ri-4nn 2
12 | Konbuo kpyrnoe 012-016-25 OCT 9833-73 M191 2
13 | 3arnywka TpaHcnoptHasa HIMO 00.005 «Bogomer» TIMA Y330 2
14 | I'mpgpoakkymynstop 24n. (ropms.) FA24r 1
15 | BuHT M8x25 oumHK., ¢ BHYTp. wecturp. DIN 912 kn.np.8.8 M145 2
16 | laika M8, oumHk. DIN 934 M152 2
17 | Wanba 8.01.16 TOCT 6958-78 (OLMHK., yBENNY.) M267 4
18 | NepexogHuk 1/4M-1/411 nar. M999 1
19 | Pene paBnenus PAM-5 9002 1
20 | MaHomeTtp MDA 50/6-1/4, akcuanbHbIN 9003 1
21 | WnaHr B meTannoonnetke 1/4 M cyron.1 M, L=265MM H. M027 1




